



Navn: _____

Dato: _____ Score: _____

$1^2 + 8 =$

$8^2 - (-9) =$

$7^{(-2)} + 4 =$

$(-1)^{(-1)} - 5 =$

$6^0 - 2 =$

$(-5)^{(-2)} - (-7) =$

$10^{(-1)} + (-2) =$

$(-7)^{(-2)} - 7 =$

$2^2 + (-7) =$

$(-7)^{(-1)} - (-1) =$

$4^0 - (-7) =$

$(-4)^2 + 6 =$

$8^0 - 2 =$

$3^2 - 9 =$

$7^{(-2)} + (-5) =$

$(-3)^2 + 4 =$

$(-7)^2 - 6 =$

$6^2 - (-6) =$

$3^{(-1)} + 8 =$

$8^{(-2)} - 8 =$



Navn: _____

Dato: _____ Score: _____

$$1^2 + 8 = 9$$

$$8^2 - (-9) = 73$$

$$7^{(-2)} + 4 = \frac{197}{49} = 4\frac{1}{49}$$

$$(-1)^{(-1)} - 5 = (-6)$$

$$6^0 - 2 = (-1)$$

$$(-5)^{(-2)} - (-7) = \frac{176}{25} = 7\frac{1}{25}$$

$$10^{(-1)} + (-2) = \left(-\frac{19}{10}\right) = \left(-1\frac{9}{10}\right)$$

$$(-7)^{(-2)} - 7 = \left(-\frac{342}{49}\right) = \left(-6\frac{48}{49}\right)$$

$$2^2 + (-7) = (-3)$$

$$(-7)^{(-1)} - (-1) = \frac{6}{7}$$

$$4^0 - (-7) = 8$$

$$(-4)^2 + 6 = 22$$

$$8^0 - 2 = (-1)$$

$$3^2 - 9 = 0$$

$$7^{(-2)} + (-5) = \left(-\frac{244}{49}\right) = \left(-4\frac{48}{49}\right)$$

$$(-3)^2 + 4 = 13$$

$$(-7)^2 - 6 = 43$$

$$6^2 - (-6) = 42$$

$$3^{(-1)} + 8 = \frac{25}{3} = 8\frac{1}{3}$$

$$8^{(-2)} - 8 = \left(-\frac{511}{64}\right) = \left(-7\frac{63}{64}\right)$$